an\.’jk.

C) A ship is heading 'outh at 15 mpl Tlu. current is flowing northwest at
3 mph. Find lhw.. s f the ship.

Sk.p + ¢urient = <\5Los¥)0 ¥ 3&0&1%5) 1551210 +3S‘ml}5>
= =2 0 -12.818)
& = Len™ (~M\ 80.b Ref arglt

-2 .\

Beacinn = 1g0 + 80.b = 2b0:b

Speed = (G (qudy = 13052

S oollng a basketball: A basketball is shot at an angle 65" with an initial speed of
12¢

a. F md the nent form of the initial velocity.

Combining Forees: A force of 40 Ibs acts on an object at angle of 30/
force of 65 pounds acts on the object at an angle if -~ 25", Find th M nd

magnitude of the resultant force. 4”0 tod 30 ¥ 65&05{ )5) L{Oslnan + b55lﬂ{ J';)
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PRE-CALCULUS: by Finney, Demana, Watts and Kennedy
Chapter 6: Applications of Trigonometry 6.3: Parametric Equations and Motion
What you'll Learn About

+ Parametric Equations/Parametric Curves/Eliminating the Para
Lines and Line Segments/Simulating Motion with a grapher

TR\
EQULATI0N?

A ship is heading northwest at 12 mph.

4= a. Find the component form of the ship after 1 hour.

L 12205135 |\ 250135

b. Find the component form of the ship afier 2 hours.

—————

£ 2405135 250 135D

¢. Find the component form of the ship afier 3 hours.

(3beosl35) 3osial3s)y

d. Write mMOr the boat at any time t.

L\ cos\3S ; \2t S’iﬂ\"-‘5>

%= 124t z05135 \, 2450 RRS
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| For the given parameter intewal(gap@he parametric equations

A x=£-2 y=3t cnl'heintervalflfr;) 74
X1Y
o 1=
ol WG
2 16
7 |a
B. x=t"-2 y=3t ontheinterval 0<7<5
C. x=t'-2 y=3t ontheinterval -3<r<lI
D. x=t*-2 y=3t ontheinterval —c<r<x

3
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i ) Selwe A e quatioo foc £

/"‘["IM 1) Subsiitute nto okhec e?”“-“"ﬂ

rd

Eliminate the parameter fmd identify the graph of the parametric curve

. 1
A)x=l‘~2y;ﬂ) qx-HB:.j B) x=1-2t y=2-t

x24%-2  w=3t (IxB=Y

2 3 3

C) x=2cos(t) y=2sin(t) D) x =3cos(t)-2 y=4sin(t) +5

E) x=2sec(t) y=2dan(t) 0<r<2r
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bruph and
E Liminate Parameler




(D x=1+¢ y=2 O0Lt<3

15 x=+7 wzd£+l OL4EH

Gtaq}k b.&d
El."m'i.n&"f- PM‘ G-Mf"\"r



